LVSZ@ERERALZLH
4 3R B 7L VR i

VTOZ

H1E(NG)16-50 E1Z3bar

MmEZ500L/min

HERE:
BWAAERRERNBITp=05barkiiE,
HIESTL “MHRERRL” B,
BENG 16 AR E < 100 L/min;

BIENG25HEHE AR
BIENGI2HEREE AR
BENGAOHF AR

BIZNGEOHER £ AR

2<
<
2<
2<

210 L/min;
300 L/min;
400 L/min;
500 L/min,

&l S it B

T S ALE AR
EEN LR ER.

LSV |- |16 | A |40-30 |PE|-20]

®its

/l_} /J\ﬁgé

16
25
32
40
50

NG16
NG25
NG32
NG40
NG50

BHMMR
A THERER
PE: BURAR

BB SIChR
30: JRARHIETLT

PBERN

A

HEAR

H FrpiEtE

FIBIES
10: 1.0bar
20 : 2.0bar
30 : 3.0bar

4 BE i £

(V=36mm?/s; T=42°C)

AP [bar]

NG16 NG25 NG32

8.0
75

7.0

/

NG40

6.5

/

6.0

/

55

/

5.0
45

NG50

4.0

/

—

0 100 20

0

300 400 500 600 700 800 900 1000 1100 1200

1300 1400 1500

Q [l/min]

www.vtoz.cn

TEL:025-85549526

237

15805186368




MeERKXRERSHE

—_— wES | RS
N A | B -
e | Ea | B S
V/Hz Isig/mA
——
N r%jﬂ 16 2.0
L 25 1 2.3
!B X | Al 32 2 ; 24/400 | 45
i i 40 3 7.5
: A A 50 10.5
oot 7 o
I - !
K L *i% | 16
\ _— L ‘ H| 25 3 - 24/400
el .
] a H
5
EAXTEEN A, B, X, Z1, Z2. 315bar
TEERE -25°C~85C
W 10~500mm? /s
5 AOFEBED
F=at BN ENG6 ( 1B R {XE )
R R R = 1 i
H Ap=100barfV=35mm?/s 6 25 32 40 >0
cm?/s 300 400 550 650 800

® EIE

B i & 1% a8
Ik HEEZSEER (L “DH®RES" BX)
MY B E U=24+V20%H %
FFRER & K400mA
B &R Ip67 DIN40 050
HER 100%ED
U Y 10Hz
RENE WL mEE K EE
238
www.vtoz.cn TEL:025-85549526 15805186368




i & M5 3%

/ I B % Baf

=X A%
- R |

LR

1A EEREREBERERP, H1. 3H
RENERSATHE, ERHIAFREEE
REFERZAT.

2ARRERESHE N2%, 1. 3%&0 3 XA
DC24V HREMIE. ARBAN, WAL
BT, EARLRERE,

3 AMWIESHEHAIDCAVE EHH, T
BT R AER H400mA, THEZENIHE
m#.

B
A
Vi {E S
S i 75 \
\
i) JEE — -
\ < |
‘ \
K ‘
m 1 0
ON OFF
AR 3 R L RS SR 8 - RS Hh 4 RBBERSE
A: E3#SEE QL: MiRFE HEES
A+B, FEEE S: WA Fr7EX 8]
C: HRORE ¥ P i (AKX )

www.vtoz.cn TEL:025-85549526 15805186368

239




R~FNG16,25,32,40,50(LSV*A: 5 A &)

L1

L3

=

==

A

I

H
=]

RENE:

WESEL B RE R EKERE,
FEEETRE,

PRI RS

FERBRHREEET RRMERRE.
FEAEESFI

AFEANENAAHESA/ME A= SHE,
BN S K EWE.

® R~

[mm] | NG16 | NG25 | NG32 | NG40 | NG50

L1 148 133 136 139 141

L2 135 120 123 126 128

L3 52 37 40 43 45

a 65 85 102 125 140

46 58 70 85 100

13 17 26 32 30

. RERS, W242T0

237 (BREH

4-

par

EEZA)

NG R~ EE (R) I EH%E (N.m)
16 4-M8X55 12.9 26"°

25 4-M12X40 12.9 90*"®

32 4-M16X50 12.9 240*°

40 4-M20X55 12.9 450*°°

50 4-M20X55 12.9 450*°°

240
www.vtoz.cn TEL:025-85549526 15805186368




R-ING16, 25, 32(LSV*H:Eshi=H B/ FhiEFER)

v

n
5

T

H
(=]

RENE:

A S E | KRR,
EEERTRE.

PR A5

FEFRREEED RRAR RS
FREEEI:
EFEAENFBHSA/MNERBRASSHE,
BN TSR ERE,

® R~
[mm] | NG16 | NG25 | NG32
L1 148 | 142 |147.5
= L2 135 | 129 |134.5
N
- L3 52 46 | 51.5
| a 66 85 102
¥ b 46 58 70
(ap]
— c 12 18 | 24.5
X y?
ﬁ Ejljj . RERT, W2437
2] (BREHEEEZA)
NG R~ SEE () IFEH%E (Nom)
16 4-M8X55 12.9 26"
25 4-M12X50 12.9 90"
32 4-M16X60 12.9 240"%°
241
www.vtoz.cn TEL:025-85549526 15805186368




Z#ER~FNG16, 25, 32, 40, 50(LSV*A)

O BEE (REHEHFE: 1SO7368)
Fi 22 Flg]
¢W & D1H7 I_@ 0_01 L1
w © A5 08 ¢ D713 18 L2:02 4-D5 | H4
£ - T AL L5:02 S
% ~ 7
g ‘ :{? I:E ‘, ) ‘$ f‘ _ \/ ‘
< ! i A b CIE !
€ 1 15 % 2| S| N \ %\
T e Y | «
o 2 © T , ¢, Kn _ CE,". -
B © £= & % 3
I A 4 P [
g <l ! N £ § ‘
s 7 i T &
i A ; T
K= _/ ] _ _
5 L4:02 | Lds«02 4- ¢ D6max
o
3 _0D2 ‘ (X,Y,21,22)
¢ Ddn7 /
H7.B&RE
HO: s R~F
PD3min~PD3max:BAETRE, BAWUKRAO F/ILHL%ES, ELNTAERTREELFEH L,
Himin~Himax NEHRREBEZILFONEBLITE, ZEAS5PD3min~dD3maxthif,
Himin¥ & ®D3max, HimaxX K PD3min
PD1:HAPDI<45mmET A FEE A ZEHAHE(AING16. NG25),
7
1 LSV ARLLBARBEFRY., Z1. Z2B&HOLHmMT,
. REIERELSVE RS EAEI LN I RHEREREEEE,
3 RIHoEEBAZ, WRTEMNEZRSBEHEX!
® Rtk
®D3 | ®D3 D6 HA1 H1
ERES ®D1 | dD2 . ®D4 | dD5 ®dD7 . H2 H3
min | max max min  max
NG16 32 16 16 25 25 M8 4 3 29.5 34 56 43
NG25 45 25 25 32 34 M12 6 3 40.5 44 72 58
NG32 60 32 32 40 45 M16 8 3 48 52 85 70
NG40 75 40 40 50 55 M20 10 3 59 64 105 87
NG50 90 50 50 63 68 M20 10 3 65.5 72 122 100
H9
B H4 H5 H6 H7 H8 min L1 L2 L3 L4 L5 W
NG16 20 11 2 20 2 0.5 65 46 23 25 10.5 | 0.05
NG25 25 12 2.5 30 2.5 1 85 58 29 33 16 0.05
NG32 35 13 2.5 30 2.5 1.5 102 70 35 41 17 0.1
NG40 45 15 3 30 3 2.5 125 85 42.5 50 23 0.1
NG50 45 17 4 35 4 2.5 140 100 50 58 30 0.1
www.vtoz.cn TEL:025-85549526 15805186368




ZHER~FNG16, 25, 32(LSV*H)

4-D5 /H4

OE (REMASF: 1SO7368)
Fi
G D1H?
1w - o
g| 8 20 o Dot $DThis 8
S Elw 3 > - R
T T ‘u_'>§x « 7\Y 0.8 JEAL
e atr ~ |
pa & F
% /| NIz - e
T ¢ T
- o o A ?
22 2 W g%
gl < ‘ ﬂ/gé/
B 2 (P
T A
B B 7 te
& AT §
A /]
$D2 (X,Y)
¢ D4y /

H7 BE&RE

dD3min~dD3max:BOHZ,

B O o] 48 A O B0 5 2 e i

OD1:HAPDI<45mmE AFE S AZEH AHE(BING25),

=

1. LSV'HEZS@AMERZ2E4H0XTAMIT, Z10TKADFOHMEFEEZGTIAARXEBO),

BARERAX. YO,

2 REAARKISVER WAL A IR RERDBIE.
B H2PEBAE, WRTE5MNEGEBF[BEMEX

BXiem R RIRE E L MR EIFL .

L2:0.2

L1

@ R~T&
®D3 ®D6
BE ®D1 | $D2 ®D4 | ®D5 D7 H1 H2 H3 H4 H5
max max
NG16 32 16 17.5 25 M8 4.5 3 31 56 43 20 10
NG25 45 25 24 34 M12 6 3 44 72 58 25 12
NG32 60 32 32 45 M16 8 3 52 85 70 35 13
R H6 H7 H8 H9 H10 | H11 L1 L2 L3 L4 L5 W
NG16 2.5 24 2.5 5 9.5 12 65 46 23 25 10.5 | 0.05
NG25 2.5 34 2.5 7 15 19.5 85 58 29 33 16 0.05
NG32 2.5 37 2.5 7 15 |22(21)| 102 70 35 41 17 0.05
243
www.vtoz.cn TEL:025-85549526 15805186368





